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OfficeServ 74001 0 0 2,600 37.6
OfficeServ 7200 0 0 940 37.6
OfficeServ 7070 4 12 692 224
OfficeServ 7030 0 2 344 224
IDCS 500P 0 0 679 4.8
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200 KVA 5216 | 7.616 5.6 16
250 KVA 5504 | 8,440 7.2 8.8
300 KVA 5880 | 8,904 48 8
350 KVA 6136 | 9312 13.7 14.4
400 KVA 7160 | 10,064 12 12.8
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o o ) OO0KVA 9,704 | 13,416 10.2 96
750 KVA| 11,280 | 14,928 8 112
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B2 £ B | AZEEY
CaO 48% vlgh = 3,008
CaO 53% ®qt » 7,406
CaO 53% o] Y 8,300
CERS
N HMgO %8I | 6,190
W2 2 (MgO 21%0°] /) " 6,955
a3 A (A E ) : 5,000
TA Sio2(H #91) g 22,000
Sio2(®]&) " 15,000
4
Sio2(Y44h) " 7,000
IHEE &9 " 15,500
2} 23 ] .0 # 14,100
PARCWE 7 3£ 9 " 5,700
Zujnd MoS2 0.2%/kg ” 16,600
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